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Algebra 2: Systems of 3 variables/word problems

W ONLY IN MATH PROBLEMS CAN YOU BLUY
60 CANTALCUPES AND NO ONE ASKS
WHAT THE HELL |& WRONS WITH YOU.
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Solve.
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Set up a system of equations that models the problem. Then solve.

Kerry asked a bank teller to cash a $390 check using $20 bills 3 O
1) and $50 bills, Tf the teller gave her a total of 15 bils, how mary ; ;L

of each type did she receive? \O : 45—0
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Three fitnes a first number decreased by a second
2) mumberis 1. The first number increased by twice the
second number is 12. Find the numbers.



3) A bowl contains 13 red and brown M&M's. There was one-more
red M&M's than brown M&M's. How many of each color a%owl?




The sum of 3 numbers is 16. The sum of twice the first number,
three times the second number, and 4 times the third number is 46.
The difference between 5 times the first number and the second number is 31,

Find the three numbers.
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